Count of Range Sum (/problems/count-of-range-sum/)
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class Solution {

private:

int

public:

};

int

count(vector<long>& sums, int left, int right, int lower, int upper) {

if (left >= right) {
return 0;

}

int mid = (left + right) / 2, m = mid + 1, n = mid + 1;

int curCount = count(sums, left, mid, lower, upper) + count(sums, mid + 1, right, lower, upper);

for (int i = left; i <= mid; i++) {
while (m <= right && sums[m] - sums[i] < lower) m++;
while (n <= right && sums[n] - sums[i] <= upper) n++;
curCount += n - m;

}

inplace_merge(sums.begin() + left, sums.begin() + mid + 1, sums.begin() + right + 1);

return curCount;

countRangeSum(vector<int>& nums, int lower, int upper) {

vector<long> sums(nums.size() + 1, 0);
for (int i = @; i < nums.size(); i++) {
sums[i + 1] = (long)sums[i] + nums[i];

}

return count(sums, @, sums.size() - 1, lower, upper);

Back to problem (/problems/count-of-range-sum/)

Copyright © 2018 LeetCode

Edit Code



Contact Us (/support/) | Students (/students) | Frequently Asked Questions (/faq/) | Terms of Service (/terms/) | Privacy Policy (/privacy/)
£ United States (/region/)



